This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 10 - Hawick & Denholm

3,605

3

902

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David BYRNE	Scottish Labour Party	57
Kevin FERGUSON	Scottish Green Party	51
Stuart MARSHALL	Independent	2,283
Clair RAMAGE	Scottish National Party (SNP)	478
Neil RICHARDS	Scottish Conservative and Unionist	596
Ian TURNBULL	Scottish Liberal Democrats	140
	Total	3,605

Candidate Stuart MARSHALL Elected with 2,283 votes, being in excess of the quota of 902

#### Scottish Borders Council

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Stuart MARSHALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BYRNE	68	0.60490	41.13320
Transfer to Kevin FERGUSON	70	0.60490	42.34300
Transfer to Stuart MARSHALL	0	0.00000	0.00000
Transfer to Clair RAMAGE	361	0.60490	218.36890
Transfer to Neil RICHARDS	589	0.60490	356.28610
Transfer to lan TURNBULL	418	0.60490	252.84820
Value of non-transferable ballot papers			470.02060
	Total		1,381.00000

This report contains the transfers results.

Stage 3 - Surplus of Neil RICHARDS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BYRNE	32	0.03194	1.02208
Transfer to David BYRNE	35	0.05280	1.84800
Transfer to Kevin FERGUSON	31	0.05280	1.63680
Transfer to Kevin FERGUSON	15	0.03194	0.47910
Transfer to Stuart MARSHALL	0	0.00000	0.00000
Transfer to Clair RAMAGE	22	0.03194	0.70268
Transfer to Clair RAMAGE	7	0.05280	0.36960
Transfer to Neil RICHARDS	0	0.00000	0.00000
Transfer to Ian TURNBULL	185	0.05280	9.76800
Transfer to Ian TURNBULL	238	0.03194	7.60172
Value of non-transferable ballot papers			26.85812
	Total		50.28610

This report contains the transfers results.

Stage 4 - Exclusion of Kevin FERGUSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BYRNE	13	0.60490	7.86370
Transfer to David BYRNE	5	1.00000	5.00000
Transfer to Stuart MARSHALL	0	0.00000	0.00000
Transfer to Clair RAMAGE	26	1.00000	26.00000
Transfer to Clair RAMAGE	24	0.60490	14.51760
Transfer to Clair RAMAGE	1	0.03194	0.03194
Transfer to Neil RICHARDS	0	0.00000	0.00000
Transfer to Ian TURNBULL	11	1.00000	11.00000
Transfer to Ian TURNBULL	1	0.03194	0.03194
Transfer to Ian TURNBULL	12	0.05280	0.63360
Transfer to Ian TURNBULL	16	0.60490	9.67840
Value of non-transferable ballot papers			20.70172
	Total		95.45890

This report contains the transfers results.

Stage 5 - Exclusion of David BYRNE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kevin FERGUSON	0	0.00000	0.00000
Transfer to Stuart MARSHALL	0	0.00000	0.00000
Transfer to Clair RAMAGE	13	1.00000	13.00000
Transfer to Clair RAMAGE	2	0.05280	0.10560
Transfer to Clair RAMAGE	21	0.60490	12.70290
Transfer to Neil RICHARDS	0	0.00000	0.00000
Transfer to Ian TURNBULL	22	1.00000	22.00000
Transfer to Ian TURNBULL	26	0.60490	15.72740
Transfer to Ian TURNBULL	17	0.05280	0.89760
Transfer to Ian TURNBULL	10	0.03194	0.31940
Value of non-transferable ballot papers			49.11408
	Total		113.86698

This report contains the transfers results.

Stage 6 - Exclusion of Ian TURNBULL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BYRNE	0	0.00000	0.00000
Transfer to Kevin FERGUSON	0	0.00000	0.00000
Transfer to Stuart MARSHALL	0	0.00000	0.00000
Transfer to Clair RAMAGE	54	0.03194	1.72476
Transfer to Clair RAMAGE	47	0.05280	2.48160
Transfer to Clair RAMAGE	137	0.60490	82.87130
Transfer to Clair RAMAGE	54	1.00000	54.00000
Transfer to Neil RICHARDS	0	0.00000	0.00000
Value of non-transferable ballot papers			329.42860
	Total		470.50626